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Part A: Grammar
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

1-By this time next year, she will have completed her degree and … working at her dream job, realizing
her long-term goals and aspirations.
1) starts 2) is starting 3) started 4) has started

2-The meeting has been productive, and the majority of … diligently to implement the proposed
changes over the past few weeks.
1) participant had worked 2) participants have been working
3) participant worked 4) participants were working

3-During the comprehensive health check, every child, adolescent, teenager, and adult … meticulously
to ensure no underlying conditions were missed by the medical team.
1) examined 2) have been examined
3) was being examined 4) examines

4-The students … for their exams within the dormitory by the time the newly appointed principal was
selected to ameliorate their living conditions.
1) had had difficulty studying 2) have had difficulty to study
3) had difficulty studying 4) were having difficulty study

5-The report was thorough and well-researched, yet I don’t think that it addressed all the critical issues
that need immediate attention and resolution, …?
1) do I 2) wasn’t it 3) didn’t it 4) did it

6-The law mandates that, in accordance with the severity of his crime, he ... a minimum of two years in
prison without the possibility of parole.
1) should have served 2) is served 3) serve 4) should be served

7-He seems to me a very intelligent and able man; ..., I don’t think he is suited for this particular job.
1) still 2) consequently 3) moreover 4) yet
8-If it weren’t for her impeccable timemanagement and organizational skills, the event… in chaos that night.
1) had ended 2) could have ended 3) could end 4) ended

9-The more you invest in consistently improving your skills and education, ... your chances of achieving
success will be.
1) much higher 2) the higher 3) a higher 4) the highest

10-Tears possess an antiseptic property that aids in safeguarding our eyes ... bacterial infections.
1) towards 2) in front of 3) before 4) against

11-The key performance indicator (KPI) metrics are crucial, … actionable insights into our operational
efficiency and overall performance.
1) which they are provided 2) what it really provides
3) in that they provide 4) in whether or not it can provide

12-The research team conducted extensive experiments and analysis, … confirmed the hypothesis.
1) the result of which 2) whose result that
3) which its result 4) the result of them

13-Much of the credit for the company's growth belongs to the innovative strategies… themanagement team.
1) implemented by 2) which was implemented by
3) implementing 4) that implement

14-The study revealed that the majority of … considered sustainability as an important factor when
making purchasing decisions.
1) those who asked 2) those asking
3) those who they are asked 4) those asked

15-The board of directors supported the proposed merger … it presented compelling synergies and
potential for market dominance.
1) even though 2) owing to 3) whereas 4) inasmuch as
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Part B: Vocabulary  
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet.

16-While self-confidence is crucial, it’s important to learn not to be … yourself, especially when things
are progressing favorably.
1) along 2) after 3) above 4) against

17-A wide variety of emotionally stressful events, like personal loss, high-pressure situations, or major
life changes, can … a relapse in individuals managing mental health conditions.
1) trigger 2) load 3) endure 4) set

18-The Lilac, a widely favored ornamental plant, thrives in alkaline soil but can also … some acidity,
especially when the pH level remains within a slightly acidic range.
1) serve 2) tolerate 3) preserve 4) confront

19-Although readily … from pain, itching appears to be transmitted through the same sensory neural
pathways.
1) inseparable 2) distinguishable 3) recoverable 4) unavoidable

20-For the war in Afghanistan, the United States depends heavily on a specific route, which provides an
overwhelming … of its necessary supplies.
1) proportion 2) sequence 3) appearance 4) evidence

21-He was conducting a/an … of the curious machine that is central to his two-year-old clean-energy
company, which is called “Better Place”.
1) investigation 2) supposition 3) adaptation 4) demonstration

22-Genetic counselling sessions offer insight into hereditary factors that may impact a couple’s ability to
… a child.
1) receive 2) adapt 3) conceive 4) deceive

23-The financial analyst … forecasted market trends, allowing the company to make strategic
investment decisions.
1) inevitably 2) erroneously 3) viciously 4) precisely

24-The adverse and … influence of artificial intelligence prompted companies to rethink their business
models and invest in digital transformation initiatives.
1) appealing 2) disruptive 3) fragile 4) tenacious

25-It is crucial for the board members to … carefully before making any major decisions that could
impact the company’s future.
1) deliberate 2) elaborate 3) penetrate 4) infiltrate

26-The unexpected resignation of the company’s chief financial officer left investors in a state of …,
triggering a temporary decline in stock value until a successor was appointed.
1) euphoria 2) tranquility 3) bafflement 4) gratitude

27-The … beginning of the new year brought forth hope, prosperity, and promising opportunities, filling
hearts with joy and anticipation for the days ahead.
1) catastrophic 2) trivial 3) futile 4) auspicious

28-She decided to … herself in the culture of her new city, attending festivals, trying local cuisine, and
making friends to truly experience its vibrancy.
1) immerse 2) imprison 3) diagnose 4) coincide

29-The team decided on the … of innovative technologies into their project, aiming to streamline
processes and enhance overall efficiency.
1) inclination 2) accumulation 3) incorporation 4) association

30-After years of hard work, Sarah finally landed her dream job, and now she’s over the ....
1) stars 2) earth 3) sun 4) moon

31-Despite facing numerous obstacles, the team managed to ... through and deliver the project ahead of
schedule.
1) take 2) look 3) pull 4) see

32-The recent merger between the two companies has ... a lot of interest in the business community, and
everyone is eager to see how it plays out.
1) exhibited 2) sparked 3) determined 4) found

33-The … scale and sophistication of cyberattacks have necessitated the development of security
measures and international collaboration to protect critical infrastructure and sensitive data.
1) unprecedented 2) viable 3) induced 4) eroded

34-The constant barrage of spam emails was a real … that clogged up inboxes and wasted people's time.
1) subsidy 2) nuance 3) acclaim 4) nuisance

35-We need to decide whether or not we are going to buy the house. It is such a big decision. We have to
… it before we decide.
1) sleep on 2) be over 3) get on top of 4) go on with
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Part C: Sentence Structure  
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct 
choice on your answer sheet.

36-
1) Although I had visited the city many times before, I had seen never the newly constructed skyscraper
became the centerpiece of the downtown skyline.
2) Although I had visited the city many times before, I never had seen the newly constructing skyscraper
that become the centerpiece of the downtown skyline.
3) Although I had visited the city many times never before, I had seen the newly constructing skyscraper
has become the centerpiece of the downtown skyline.
4) Although I had visited the city many times before, I had never seen the newly constructed skyscraper
that had become the centerpiece of the downtown skyline.

37-
1) The new design for the office building was modern and sleek; however, the architects had to make
several revisions to accommodate the client’s requests.
2) The office building new design was modern and sleek, thus, the architects must take several revisions
to accommodate the client’s requests.
3) The new design of the office building was modern and sleek, whether the architects were to take
several revisions to accommodate the client’s requests.
4) The office building new design was modern and sleek, instead, the architects have to make several
revisions to accommodate the client’s requests.

38-
1) Not only the small backyard also the ornamental grass plot meet the needs of someone but the very
small children.
2) Either the small backyard or the ornamental grass plot meet the needs of someone but the very small
children.
3) Not only does the small backyard meet the ornamental grass plot but the needs of any but the very
small children.
4) Neither the small backyard nor the ornamental grass plot meets the needs of any but the very small children.

39-
1) Beneath the jagged peaks of the mountain range, to be obscured by mist and jagged rocks, does lie a
secluded alpine lake.
2) Beneath the jagged peaks of mountain range, obscured by mist and jagged rocks, lies where is a
secluded alpine lake.
3) Beneath the jagged peaks of the mountain range, obscured by mist and jagged rocks, lies a secluded
alpine lake.
4) Beneath the jagged peaks of the mountain range, where is obscured by mist and jagged rocks, secluded
alpine lake lies there.

40-
1) The phenomenon of bioluminescence, in which living organisms emit light through a chemical
reaction, is found in a variety of species ranging from deep-sea creatures to fireflies.
2) The phenomena of bioluminescence, in which living organisms emit light through a chemical reaction,
is found in variety of species with being ranged from deep-sea creatures to fireflies.
3) The phenomenon of bioluminescence, in which alive organisms emit light through chemical reaction,
is found in a variety of species and is ranged from deep-sea creatures towards fireflies.
4) The phenomena of bioluminescence, in which alive organisms emit light through a chemical reaction,
found in variety of species, are ranged from deep-sea creatures towards fireflies.

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations 
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Mike, I’m glad we finally decided to …(41)… on the new marketing strategy.
B: Me too, Tom. It took a while, but our discussion really helped us align our ideas.
A: Absolutely. And getting the budget approval was …(42)… .
B: How did you manage that? I know it was a tough sell.
A: I had to twist the CFO’s …(43)… a bit, but I convinced him that it was worth the investment.
B: Great job, Tom! Now we can move forward with confidence.

41-1) kick the bucket 2) see eye to eye
3) take a rain check 4) cut corners

42-1) gold dust 2) nothing on earth
3) a pie in the sky 4) the icing on the cake

43-1) leg 2) mind
3) arm 4) head
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A: Donald, how are you able to stay so productive late at night?
B: Well, I’ve always been …(44)… . I get most of my best work done after everyone else has gone
to bed.
A: That’s impressive. By the way, did you have any issues presenting your ideas to the team?
B: A bit. There were some disagreements, but I stood my …(45)… and convinced them that my
approach was the best.
A: Good for you, Donald. It’s important to defend your ideas when you believe in them.

44-1) a bigwig 2) a fat cat
3) a night owl 4) an early bird

45-1) ground 2) opinion
3) lane 4) field

Part E: Cloze Test  
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet.

At the supermarket these days, there is often a section or aisle that sells just organic products. There are
also many new stores ...(46)... up that specialize just in organic fruits and vegetables. Organic food is
becoming more and more popular these days ...(47)... concerns about the safety of conventionally grown
food. Organically grown produce, though, is often more expensive to buy. Consumers need to
understand why something is labeled “organic” in order to make the best choices ...(48)... for themselves
and their families.
Several factors contribute to this higher price. Though there are some small differences, government

agencies across the world agree ...(49)... a product as organic: such products must be grown without
chemical fertilizers or pesticides. Also, livestock, such as cows, pigs, and chickens, must not be ...(50)...
with artificial growth hormones or antibiotics. These standards result in food that is generally healthier
and tastier. Without harsh pesticides and chemical fertilizers, crop plants produce more antioxidants
and other beneficial ...(51)... . The farmer, their families, and their communities also benefit from a
cleaner and safer environment. Fertilizer runoff is a major environmental problem and affects places
far away from farms. Their mass production also contributes ...(52)... global warming. Organic
production techniques encourage environmental stewardship for the Earth and long-term agricultural
sustainability.
Those standards ensure a safe and nutritious supply of food from organic farms. However, organic

farming reduces crop yields per farm while increasing ...(53)... . As a result, organic food is generally
more expensive. The price difference may be ...(54)... slightly in the future, as consumers ask for more
organically grown produce and more suppliers jump into the market to fill that ...(55)... .

46-1) to open 2) open 3) opening 4) are opened
47-1) instead of 2) due to 3) despite 4) besides
48-1) when purchasing food 2) of food to purchasing
3) they purchase food 4) the food purchase

49-1) to qualify 2) the qualification of
3) whether to qualify 4) on what qualifies

50-1) injected 2) penetrated 3) interfered 4) associated
51-1) nutrients 2) revenues 3) scopes 4) proportions
52-1) in 2) with 3) to 4) on
53-1) and requiring a labor 2) the labor required
3) the labor to require 4) to require the labor

54-1) inclined 2) motivated 3) burst 4) offset
55-1) income 2) demand 3) blank 4) vacancy
Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions 
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1: 
Elizabeth Hazen and Rachel Brown co-patented one of the most widely acclaimed wonder drugs of the
post-Second World War years. Hazen and Brown’s work was stimulated by the wartime need to find a
cure for the fungus infections that afflicted many military personnel. Scientists had been feverishly
searching for an antibiotic toxic enough to kill the fungi but safe enough for human use, since,
unfortunately, the new “wonder drugs” such as penicillin and streptomycin killed the very bacteria in
the body that controlled the fungi. It was to discover a fungicide without that double effect that Brown,
of New York State’s Department of Health Laboratories at Albany, and Hazen, senior microbiologist at
the Department of Health in New York, began their long-distance collaboration. Based on Hazen’s
previous research at Columbia University, where she had built an impressive collection of fungus
cultures, both were convinced that an antifungal organism already existed in certain soils.
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They divided the work. Hazen methodically screened and cultured scores of soil samples, which she
then sent to her partner, who prepared extracts, isolated and purified active agents, and shipped them
back to New York, where Hazen could study their biological properties. On a 1948 vacation, Hazen
fortuitously collected a clump of soil from the edge of W.B. Nourse’s cow pasture in Fauquier County,
Virginia, that, when tested, revealed the presence of the microorganisms. In honor of farm owner
Nourse, Hazen named it Streptomyces noursei, and within a year the two scientists knew that the
properties of their substance distinguished it from previously described antibiotics. After further
research, they eventually reduced their substance to a fine, yellow powder, which they first named
“fungiciden.” Then they renamed it “nystatin” (to honor the New York State laboratory) when they
learned the previous name was already in use. Of their major discovery, Brown said lightly that it
simply illustrated “how unpredictable consequences can come from rather modest beginnings.”

56-What is the main topic of the passage?
1) The lives of Hazen and Brown. 2) The development of a safe fungicide.
3) The New York State Department of Health. 4) The development of penicillin.

57-What can be inferred from the passage about penicillin?
1) It effectively treats fungus infections. 2) It was developed before nystatin.
3) It was developed before the Second World War. 4) One of its by-products is nystatin.

58-Why does the author mention Columbia University in paragraph 1?
1) Hazen and Brown developed nystatin there. 2) Brown was educated there.
3) Hazen did research there. 4) It awarded a prize to Hazen and Brown.

59-What substance did Brown and Hazen analyze?
1) Dirt 2) Streptomycin 3) Bacteria 4) agents

60-According to the passage, who was W. B. Nourse?
1) A microbiologist 2) A teacher of Hazen’s 3) A collector of fungi 4) A farmer

PASSAGE 2: 
Throughout the nineteenth century and into the twentieth, citizens of the United States maintained a
bias against big cities. Most of them lived on farms and in small towns and believed cities to be centers
of corruption, crime, poverty, and moral degradation. Their distrust was caused, in part, by a national
ideology that proclaimed farming the greatest occupation and rural living superior to urban living. This
attitude prevailed even as the number of urban dwellers increased and cities became an essential
feature of the national landscape. Gradually, economic reality overcame ideology. Thousands
abandoned the precarious life on the farm for more secure and better paying jobs in the city. But when
these people migrated from the countryside, they carried their fears and suspicion with them. These
new urbanties, already convinced that cities were overwhelmed with great problems, eagerly embraced
the progressive reforms that promised to bring order out of the chaos of the city.
One of many reforms came in the area of public utilities. Water and sewerage systems were usually

operated by municipal governments, but the gas and electric networks were privately owned.
Reformers feared that the privately owned utility companies would charge exorbitant rates for these
essential services and deliver them only to people who could afford them. Some city and state
governments responded by regulating the utility companies, but a number of cities began to supply
these services themselves. Proponents of these reforms argued that public ownership and regulation
would insure widespread access to these utilities and guarantee a fair price.

61-What does the passage mainly discuss?
1) A comparison of urban and rural life in the early twentieth century
2) The role of government in twentieth-century urban renewal
3) Efforts to improve urban life in the early twentieth century
4) Methods of controlling urban growth in the twentieth century

62-The first paragraph suggests that most people who lived in rural areas … .
1) were suspicious of their neighbors 2) were very proud of their lifestyle
3) believed city government had too much power 4) wanted to move to the cities

63-In the early twentieth century, many rural dwellers migrated to the city in order to … .
1) participate in the urban reform movement 2) seek financial security
3) comply with a government ordinance 4) avoid crime and corruption

64-The word “exorbitant” in paragraph 2 is closest in meaning to … .
1) expensive 2) additional 3) various 4) modified

65-All of the following were the direct results of public utility reforms EXCEPT… .
1) some local governments determined the rates charged by private utility companies
2) some utility companies were owned and operated by local governments
3) the availability of some services was regulated by local government
4) private utility companies were required to pay a fee to local governments
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PASSAGE 3: 
The rise of plant-based eating has become a major trend, with supermarkets overflowing with meatless
alternatives and restaurants featuring dedicated vegan menus. But beyond the social buzz, a scientific
conversation is brewing about the optimal incorporation of plant-based options into our diets.
Proponents hail the potential health benefits. Studies suggest that prioritizing fruits, vegetables, whole
grains, and legumes can lower the risk of chronic diseases like heart disease, type 2 diabetes, and certain
cancers. Plant-based proteins are often lower in saturated fat and cholesterol, while being rich in fiber,
vitamins, and minerals. However, some critics caution against a complete shift away from animal
products. They emphasize the importance of essential nutrients like vitamin B12 and iron, which are
more readily absorbed from animal sources. They argue that a well-balanced, omnivorous diet can
provide all the necessary nutrients.
The science behind these arguments is complex. While plant-based sources of B12 do exist, such as

fortified cereals and nutritional yeast, their bioavailability (absorption by the body) might be lower.
Similarly, plant-based iron, while abundant in leafy greens, can be trickier for the body to absorb
compared to heme iron found in meat. This is where the concept of “flexitarianism” emerges. This
dietary approach encourages incorporating more plant-based meals while allowing for occasional meat
consumption. It offers a practical middle ground, potentially reducing the overall environmental impact
of our food choices without compromising nutrient intake. The environmental impact is another
compelling factor in the plant-based discussion. Animal agriculture is a significant contributor to
greenhouse gas emissions and deforestation. Studies have shown that a shift towards plant-based
protein sources can significantly reduce our environmental footprint.
Ultimately, the optimal balance of plant-based and animal products in a diet might be an individual

decision. Factors like personal health goals, dietary restrictions, and cultural preferences all play a role.
However, with a growing body of scientific evidence and a rising awareness of environmental impact,
the conversation surrounding plant-based options is sure to continue to simmer. Additionally, for those
seeking a more structured approach, there are various plant-based dietary patterns available, such as
the Mediterranean diet and the DASH diet, which incorporate plant-based options within a broader
framework. This allows individuals to explore the world of plant-based eating while still adhering to
specific health goals or preferences.

66-The underlined phrase “omnivorous diet” in paragraph 1 is closest in meaning to … .
1) unknown dietary pattern 2) varied diet
3) quick eating habits 4) vegetarianism

67-In terms of the structure of the passage, the author mention the concept of “flexitarianism” in the
second paragraph to … .
1) provide historical context for the rise of plant-based eating
2) introduce a polar opposite dietary philosophy from the ones already discussed
3) foreshadow the environmental impact discussion later in the passage
4) present a solution to the potential challenges raised regarding nutrient absorption in plant-based diets

68-According to the passage, which of the following statements is true?
1) Plant-based sources of iron are difficult for the body to absorb compared to ones from an animal.
2) A flexitarian approach completely eliminates animal products from the diet.
3) Plant-based diets are guaranteed to lower cholesterol levels in older adults.
4) The environmental impact of animal agriculture is the sole factor driving the rise of plant-based eating.

69-The passage provides sufficient information to answer “yes” to which of the following questions?
1) Does the passage provide a detailed breakdown of the recommended ratios of plant-based to animal
products in the Mediterranean and DASH diets?
2) While the passage mentions cultural preferences, does it give a clear assessment of the feasibility of a
plant-based diet integrating seamlessly with all cultural food traditions?
3) While acknowledging the rise of plant-based alternatives, does the passage discuss the potential
economic or social challenges associated with this dietary shift?
4) Does the passage provide the readers with some examples in which plant-based sources of B12 and iron
can be found?

70-Which of the following statements can best be inferred from the passage?
1) The scientific debate around plant-based diets seems to be resolved.
2) Plant-based proteins are inherently superior to animal products in terms of nutrients.
3) A “flexitarian” diet is suggested for its optimal health and environmental impact, acknowledging
challenges in plant-based nutrient absorption.
4) Animal products are seen as crucial for nutrient intake, and plant-based options offer no significant
health benefits.
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  )محسن رحيمي(  »3«گزينة  - 1
  نكتة مهم درسي:

 ازي ـكامل ن ةنديبه زمان آ ”by this time next year“زمان ديبا توجه به ق
موازنه، قبـل و بعـد حـرف ربـط      اي يگهمپاي ةبا توجه به قاعد ،ني. همچنميدار

“and” سـؤال  ني ـباشند كه در ا كساني ديبا   “will have”  از قسـمت دوم
فقـط   نيبنـابرا حذف شده است و  يلفظ ةنقري به حذف ةجمله با توجه به قاعد

  .)ها نهيگز ري(رد سا ميقسمت سوم فعل دار اي ”p.p“ به ازين
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »2«گزينة  - 2
  نكتة مهم درسي:
 يها نهي(رد گز مياز اسم جمع استفاده كن ديبا ”the majority of“د با توجه به وجو

از  دي ـ، با”over the past few weeks“ زمان ديبا توجه به ق ياز طرف»). 3و  1«
  »).4« ةني(رد گز مياستفاده كن يزمان حال كامل استمرار

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 3
  ة مهم درسي:نكت

از فعـل مفـرد    دي ـذكـر شـده با    مياسا يدر ابتدا ”every“با توجه به وجود 
 اسـم  ةرابط ـ نكـه يبـا توجـه بـه ا    ،ياز طرف ـ»). 2« ةن ـي(رد گز مياستفاده كن ـ

“every child, adolescent, teenager, and adult” ــ  ــا فع  لب
“examine” ختار از سـا  دي ـاسـت، با  يكردن، امتحان كردن) مفعـول  نهي(معا

  »).4و  1« يها نهي(رد گز ميكن استفادهمجهول 
 (گرامر)

----------------------------------------------  

  )محسن رحيمي(  »1«گزينة  - 4
  نكتة مهم درسي:
(رد  مي) استفاده كنverb-ingاز اسم مصدر ( ديبا ”difficulty“بعد از صفت 

 ةخر عمل و مفهوم گذشـت أتبا توجه به تقدم و  ن،يهمچن»). 4و  2« يها نهيگز
  »).3« ةني(رد گز مكني استفاده كامل ةاز ساختار گذشت ديكامل، با

 (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 5
  نكتة مهم درسي:

ساز  هياست كه بر سر آن حروف ربط همپا يا جمله سوالي ةملاك ساختن دنبال
 ييهـا  عبـارت  با هاگر جمل ن،يهمچن »).2« ةنيآمده باشد (رد گز ”yet“ مانند

شـروع شـده    ”.I think, I believe, I’ve heard, I guess, etc“ ري ـنظ
بـا توجـه بـه     ،يطرف ـ از .»)1«ة ني(رد گز ميريگ يباشد، آن جمله را در نظر نم

  »).3« ةني(رد گز مياز فعل مثبت استفاده كن دياست، با يجمله منف نكهيا
 (گرامر)

----------------------------------------------  

 )عباسعلي عباسي(  »3«گزينة  - 6

  نكتة مهم درسي:
دهنـدة مفـاهيم پيشـنهاد، التـزام، وجـوب و درخواسـت        بعد از افعالي كه نشان

 مياستفاده كرد. وجه التزا ”subjunctive“يا  ميتوان از وجه التزا ميهستند 
همراه باشـد كـه قابـل حـذف      ”should“و  ”that clause“تواند با يك  مي 

از شكل  مياي كه بايد به آن توجه كرد اين است كه در وجه التزا هستند. نكته
مفـرد    سـوم شـخص    كنيم حتي اگر فعل بـراي ضـماير   افعال استفاده مي ةساد

از مفعول استفاده شده است، در نتيجه بايـد بـه شـكل     ”serve“باشد. بعد از 
  ). »4و  2«ي ها (رد گزينه فاده شودمعلوم است

 (گرامر)
----------------------------------------------  

 )عباسعلي عباسي(  »1«گزينة  - 7

  نكتة مهم درسي:
 ةبريم كه با دو جمل علامت نگارشي نقطه ويرگول پي مياستفاده از با توجه به 
راستا استفاده كرد. از در اين  ”yet“توان از  ميرو هستيم، در نتيجه ن مجزا روبه

شـود   ديده مـي » 1«ة لحاظ معنايي به مفهوم تضاد نياز داريم كه فقط در گزين
  ها). (رد ساير گزينه

 (گرامر)
----------------------------------------------  

 )عباسعلي عباسي(  »2«گزينة  - 8

  نكتة مهم درسي:
مواجـه   دومشـرطي نـوع   بـريم كـه بـا     زمان ماضي پـي مـي  استفاده از با توجه به 

 main“در قسمت  را ”that night“دقت كنيد قيد زماني  ميهستيم، اما اگر ك

clause”  تواند ما را به شرطي نوع مختلط سوق دهد.  كنيد كه مي مشاهده مي
 ةشوند. از آنجايي كه نتيج ربط هستند و رد مي در اينجا بي »4و  1«ي ها گزينه

بايـد   ”main clause“رح است، در قسمت عمل و اتفاق در زمان گذشته مط
  »).3«كنيم (رد گزينة  استفاده سوماز شرطي نوع 

 (گرامر)
----------------------------------------------  

 )عباسعلي عباسي(  »2«گزينة  - 9

  نكتة مهم درسي:
  :با توجه به ساختار 

“the comparative adjective… + the comparative adjective...”  
  .است »2« گزينة باشد مي درست كه اي گزينه تنها

 (گرامر)
----------------------------------------------  

 )عباسعلي عباسي(  »4«گزينة  -10

  نكتة مهم درسي:
نيـاز  “ against” ةبه حرف اضـاف “ safeguard”دقت داشته باشيد كه بعد از 

  ها). داريم (رد ساير گزينه
 (گرامر)

 ----------------------------------------------  
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  )راد محمدمهدي حسني(  »3«گزينة  -11
  نكتة مهم درسي:

توانيم مفعول داشته باشـيم (رد   توجه داشته باشيد كه بعد از فعل مجهول، نمي
توانيم از ضـمير مفـرد    به دليل اينكه فاعل جمله جمع است، نمي»). 1«گزينة 

“it”  ر اينجـا از سـاختار   دقت كنيـد د »). 4و  2«كنيم (رد گزينة“in that” 
  استفاده شده است.» زيرا، چرا كه«براي بيان مفهوم 

 (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »1«گزينة  -12
  نكتة مهم درسي:

باشد و باعث نـاقص و معيـوب شـدن     اضافي مي ”that“حضور ضمير موصولي 
بـراي نشـان دادن مالكيـت در    »). 2«گردد (رد گزينـة   ميمعنا و مفهوم جمله 

با توجه به »). 3«استفاده كنيم (رد گزينة  ”whose“جملات موصولي بايد از 
كامل داريم، بايد حرف ربطي وجود داشته باشد  ةكه قبل و بعد از كاما جمل اين

  »).4«كه جملات را به يكديگر متصل كند (رد گزينة 
 (گرامر)

 ----------------------------------------------  

  )راد محمدمهدي حسني(  »1«گزينة  -13
  نكتة مهم درسي:

بـراي فعـل    ”the innovative strategies“توجه داشته باشيد كـه نقـش   
“implement”       ــم (رد ــول داري ــل مجه ــه فع ــاز ب ــس ني ــت پ ــولي اس مفع

،  ”innovative strategies“با توجه بـه جمـع بـودن    »). 4و  3«يها گزينه
  »).2«مجاز به استفاده از فعل مفرد نيستيم (رد گزينه

 (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »4«گزينة  -14
  نكتة مهم درسي:

بنابراين  ،مفعولي است ”ask“براي فعل  ”the majority of those“نقش 
بـا توجـه بـه    »). 2و  1«يها د گزينهبايد از شكل مجهول فعل استفاده كنيم (ر

استفاده كرد (رد گزينـة   ”they“توان از  ، نمي ”who“حضور ضمير موصولي 
»3.(«  

 (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »4«گزينة  -15
  نكتة مهم درسي:

از حروف ربط بيـانگر   با توجه به معنا و مفهوم جمله، هيچ دليلي براي استفاده
 ”owing to“بعـد از حـرف ربـط    »). 3و  1«ي ها تضاد وجود ندارد (رد گزينه

  »).2«كامل استفاده كنيم (رد گزينة  ةتوانيم از يك جمل نمي
 (گرامر)

----------------------------------------------  

  )سيدمهدي خبازي(  »  3«گزينة  -16
اسـت، امـا مهـم     يك ضـرورت ماد به نفس اعتداشتن  كه با اين«جمله:  ةترجم

 مطابق ميل مـا است كه فروتني را فراموش نكنيم، به خصوص زماني كه اوضاع 
 »رود. ميپيش 

  نكتة مهم درسي:
مغـرور بـودن و خيلـي بـه خـود      «يعنـي   ”be above yourself“به عبارت 

  دقت داشته باشيد. » باليدن
 )واژگان(

----------------------------------------------  

  )سيدمهدي خبازي(  »  1«گزينة  -17
زا  اسـترس  ي كـه از لحـاظ روحـي   يهـا  طيف وسـيعي از رويـداد  « جمله: ترجمة

ي پرفشار يا تغييرات اساسي در زندگي ها مانند فقدان عزيزان، موقعيتهستند، 
بيماري در افرادي شود كه با مشكلات روحـي و روانـي    بازگشتنتواند باعث  مي

  » كنند. ميرم دست و پنجه ن
  بارگذاري كردن) 2  موجب شدن) 1
  تعيين كردن، قرار دادن  ) 4  تحمل كردن) 3

 )واژگان(
----------------------------------------------  

 )سيدمهدي خبازي(  »  2«گزينة  -18

ياس بنفش، گياهي زينتي بسيار محبوب، در خاك قليايي رشد «جمله:  ةترجم
، بـه خصـوص   را تحمـل كنـد   اسيدي بودن خاك اريتواند مقد ميكند، اما  مي

 »اسيدي باقي بماند.  ميك ةدر محدود pHزماني كه سطح 

  تحمل كردن، تاب آوردن) 2  ) ارائه كردن، غذا دادن1
  مواجه شدن، مقابله كردن ) 4  حفظ كردن ) 3

 )واژگان(
----------------------------------------------  

 )ازيسيدمهدي خب(  »  2«گزينة  -19

به نظـر  اما خارش، گرچه به راحتي از درد قابل تشخيص است، «جمله:  ةترجم
 » شود. ميرسد از طريق همان مسيرهاي عصبي حسي منتقل  مي

  تشخيص قابل) 2  جدانشدني) 1
  ناپذير  اجتناب) 4  بازيافتني ) 3

 )واژگان(
----------------------------------------------  

 )دي خبازيسيدمه(  »  1«گزينة  -20

براي جنگ در افغانستان، ايـالات متحـده وابسـتگي شـديد بـه      «جمله:  ةترجم
دارد كه بخش غالب تداركات مورد نياز خود را از طريق آن تأمين  يمسير خاص

 » د.كن مي

  توالي) 2  بخش) 1
  مدرك) 4  ظاهر) 3 

 )واژگان(
----------------------------------------------  
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 )يدمهدي خبازيس(  »  4«گزينة  -21

 ةدر حال نمـايش دسـتگاه عجيـب و غريبـي بـود كـه هسـت        او«جمله:  ترجمة
 » د.رو ميبه شمار » جاي بهتر«انرژي پاك او به نام  ةمركزي شركت دو سال

  فرض، تصور ) 2  تحقيق، تجسس) 1
 نمايش  ) 4   اقتباس، سازگاري) 3 

  نكتة مهم درسي:
نمـايش  «بـه معنـاي    ”conduct a demonstration“ به تركيب واژگاني  
  دقت كنيد. » دادن، نشان دادن

 )واژگان(
----------------------------------------------  

  )راد محمدمهدي حسني(  »3«گزينة  -22
ژنتيـك بينشـي در مـورد عوامـل ارثـي ارائـه        ةجلسات مشـاور « ترجمة جمله:

  »ثير بگذارد.دار شدن تأ دهد كه ممكن است بر توانايي زوجين براي بچه مي
  ) وفق دادن2  ) دريافت كردن1
  ) فريب دادن4  ) تصور كردن، پنداشتن3

  نكتة مهم درسي:
توجـه  » دار شـدن  بچـه «به معناي  ”conceive a child“به تركيب واژگاني 

  كنيد.
 )واژگان(
----------------------------------------------  

  )راد محمدمهدي حسني(  »4«گزينة  -23
بيني كرد كه  ي بازار را پيشها تحليلگر مالي به طور دقيق روند« :ترجمة جمله

  »گذاري را اتخاذ كند. به شركت اجازه داد تصميمات استراتژيك سرمايه
  ) به اشتباه2  ناپذير طور اجتناب ) به1 
  طور دقيق ) به4  ) شرورانه3

 )واژگان(
----------------------------------------------  

  )راد محمدمهدي حسني(  »2«گزينة  -24
را وادار كـرد   هـا  مخرب هوش مصنوعي شركتنامطلوب و ثير أت« ترجمة جمله:

وكار خود تجديد نظر كنند و در ابتكارات تبديل ديجيتال  هاي كسب تا در مدل
  »گذاري كنند. سرمايه

  كننده ) مخرب، مختل2  ) جذاب1
  ) سرسخت4  ) شكننده3

 )واژگان(
----------------------------------------------  

  )راد محمدمهدي حسني(  »1«گزينة  -25
براي اعضاي هيئت مديره بسيار مهم است كـه قبـل از اتخـاذ هـر     « ترجمة جمله:

  »ثير قرار دهد با دقت فكر كنند.أشركت را تحت ت ةكه بتواند آيند ميتصميم مه
  ) با دقت شرح دادن2  ) با دقت فكر كردن1 
  نكرد نفوذ) 4  ) نفوذ كردن3

 )واژگان(
----------------------------------------------  

  )راد محمدمهدي حسني(  »3«گزينة  -26
گـذاران را   مدير ارشد مالي شركت، سرمايه ةراستعفاي غيرمنتظ« ترجمة جمله:

قـرار داد و باعـث كـاهش موقـت ارزش سـهام تـا تعيـين          ميدر حالت سردرگ
  »جانشين شد.

  ) آرامش2  ) رضايت1 
  ) سپاسگزاري4  ي، سردرگمي) گيج3

 )واژگان(
----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  -27
را بـه   دبخشي ـنو يهـا  رفاه و فرصت د،يسال نو ام ةآغاز فرخند«ترجمة جمله: 

  »رو كرد. شيپ يروزها يو انتظار برا يرا سرشار از شاد ها همراه داشت و دل
  اهميت، جزئي ) كم2  بار  مصيبتآميز،  ) فاجعه1
  يمن ) فرخنده، خوش4  ) بيهوده، عبث  3

 )واژگان(
----------------------------------------------  

  )محسن رحيمي(  »1«گزينة  -28
كند، در  غرق دشيگرفت خود را در فرهنگ شهر جد مياو تصم«ترجمة جمله: 

كنـد تـا    دايپ يو دوستانرا امتحان كند  يمحل يشركت كند، غذاها ها جشنواره
  »آن را تجربه كند. يواقعاً سرزندگ

  ور كردن ) غرق كردن (در فعاليت و ...)، غوطه1
  ) زنداني كردن2
  ) تشخيص دادن (بيماري) 3
  ) منطبق بودن، مصادف شدن4

 )واژگان(
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  -29
 شيو افـزا  نـدها يفرآ يسـاز  گرفت بـا هـدف سـاده    ميتصم ميت«مة جمله: ترج
  .»تلفيق كندخود  ةنوآورانه را در پروژ يها يفناور ي،كل ييكارا

  آوري، انباشتگي ) جمع2  ) تمايل، شيب 1
  ) انجمن، همكاري، مشاركت4  ، الحاقتلفيق) 3

 )واژگان(
----------------------------------------------  

 )روش يل محمديعق(  »4«گزينة  -30

 خـود  رويـايي  شـغل  بـه  سرانجام سخت كار ها سال از پس سارا«ترجمة جمله: 
  .»است بسيار خوشحال اكنون و رسيد

  نكتة مهم درسي:
دقـت  » بسيار خوشحال بودن«به معناي  ”be over the moon“به اصطلاح 

  كنيد.
 )واژگان(
----------------------------------------------  

www.konkur.in

Telegram: @konkur_in



 6 ةصفح  منحصراً زباناختصاصي   1403تير   16آزمون  

 )روش عقيل محمدي(  »3«گزينة  -31

 از زودتر را پروژه شد موفق تيم متعدد، موانع با مواجهه عليرغم«ترجمة جمله: 
  .»دهد تحويل و داده انجام مقرر موعد

  نكتة مهم درسي:
و موفق  ها پشت سر گذاشتن سختي«معناي  به ”pull through“به اصطلاح 

  دقت كنيد.» شدن
 )واژگان(

----------------------------------------------  

 )روش عقيل محمدي(  »2«گزينة  -32

 تجاري ةجامع در را زيادي ةعلاق شركت، دو اين بين اخير ادغام«ترجمة جمله: 
  .»بود خواهد چگونه روند اين ببينند كه هستند مشتاق همه و است برانگيخته

  ، برانگيختنزدن جرقه) 2  دادن نمايش) 1

  يافتن) 4  كردن تعيين) 3
 )واژگان(

----------------------------------------------  

  )پويا كرمي(  »1«گزينة  -33
 ةسابقه بودن مقياس و پيچيـدگي حمـلات سـايبري توسـع     بي«ترجمة جمله:  

هاي حياتي  المللي را براي حفاظت از زيرساخت اقدامات امنيتي و همكاري بين
  »ت.ضروري كرده اس را ي حساسها و داده

  ماندني ) زنده2  قه ساب ) بي1

  شده ) ساييده4  شده القا) 3
 )واژگان(

----------------------------------------------  

  )پويا كرمي(  »4«گزينة  -34
 كـه بـود   بـد   مزاحمـت  يـك هـاي اسـپم    ايميـل  رگبـار مـداوم  «ترجمة جمله: 

  »داد. مي كرد و وقت مردم را هدر هاي ورودي ايميل را پر مي صندوق

  ) فرق جزئي2  نه، اعانه) كمك هزي1

  ) اذيت و آزار، مزاحمت4  تحسين) 3
 )واژگان(

----------------------------------------------  

 )اميرمهدي عالي(  »  1«گزينة  -35

خواهيم خانه را بخريم يا  مينياز است كه تصميم بگيريم كه آيا « ترجمة جمله:
يم بگيريم مـدتي روي آن  كه تصم اين نه؟ اين تصميم بزرگي است، بايد قبل از

 »فكركنيم.

  ) تمام كردن چيزي 2  ) فكر كردن روي چيزي1

  ) ادامه دادن چيزي4  ) انجام دادن كاري با موفقيت 3
 )واژگان(

----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -36
  نكتة مهم درسي:

). ها گيرد (رد ساير گزينه ميرار و شكل سوم فعل ق ”had“بين  ”never“قيد 
نيـاز داريـم (رد    ”constructed“باتوجه به معناي مدنظر به صـفت مفعـولي   

حذف ضمير موصـولي باعـث نـاقص    » 3و  1«در جملات »). 3و  2«ي ها گزينه
  »).3و  1«ي ها شدن معني جمله شده است (رد گزينه

 )ترتيب اجزاي جمله(
----------------------------------------------  

 )روش عقيل محمدي(  »1« ةگزين -37
  نكتة مهم درسي:

نيـاز داريـم (رد   ) هرچنـد ( ”however“توجه به معناي مدنظر به مفهـوم    با
ي هـا  آيد (رد گزينـه  مي ”make“با فعل  ”revisions“ كلمة ).ها ساير گزينه

  »).3و  2«
 )ترتيب اجزاي جمله(

----------------------------------------------  

 )عباسعلي عباسي(  »4«گزينة  -38
  نكتة مهم درسي:

“ also”ميتـوان  “ not only… but also”دقت داشته باشيد كه در تركيب 
بـراي تطـابق   »). 1«را حذف كرد (رد گزينة “ but”توان  اما نمي ،را حذف نمود

“ or”فعل را بر اساس آنچه كه بعد از “ either … or”فعل و فاعل در تركيب 
باشد، در نتيجه فعـل آن نيـز    ميمفرد “ plot”آوريم. از آنجايي كه  ميآيد،  يم

صورت موازي به كار  ساختار به »3«در گزينة »). 2«بايد مفرد باشد (رد گزينة 
اما  ،جمله به كار رفته است“ not only”نرفته است. دقت داشته باشيد كه بعد 

  »).3«گزينة اين مسئله رعايت نشده است (رد “ but”بعد از 
 )ترتيب اجزاي جمله(

----------------------------------------------  

 )عباسعلي عباسي(  »3«گزينة  -39
  نكتة مهم درسي:

ربـط   اساسا بـي  ”to“با ، استفاده از مصدر »1«ة دقت داشته باشيد كه در گزين
ار قـر باشد. همچنين دقت داشته باشيد كه زماني كـه قيـدي در اول جملـه     مي
يعنـي از خـود فعـل اصـلي اسـتفاده       ،يگيرد وارونگي كامـل خـواهيم داشـت   م

بـه  “ where”بعداز »). 1«شود (رد گزينة  كنيم و فعل كمكي استفاده نمي مي
ايـن مسـئله رعايـت نشـده      »4و  2«هـاي   اما در گزينه ،كامل نياز داريم ةجمل

ان و زمـان قيـد مك ـ   هـم  ةباشند. همچنـين اسـتفاد   است، درنتيجه نادرست مي
”there ”باشد. مي نادرست  

 )ترتيب اجزاي جمله(
----------------------------------------------  

 )عباسعلي عباسي(  »1«گزينة  -40
  نكتة مهم درسي:

 ردر معناي متغير بـودن يـك فعـل ناگـذ    “ range”داشته باشيد كه فعل  دقت
). ها گزينهساير د گيرد كه بتواند مجهول شود (ر باشد، در نتيجه مفعولي نمي مي

“ alive”، اسـتفاده از صـفت   ” in variety of”همچنين به تركيبات اشـتباه  
  دقت داشته باشيد. “ from … towards”قبل از يك اسم و تركيب اشتباه 

 )ترتيب اجزاي جمله(
----------------------------------------------  
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  )محمدمهدي دغلاوي(  »2«گزينة  -41
  نظر بودن دو نفر ) هم2  ) مردن1
  كردن ييجو ) صرفه4  انداختن قيتعو به) 3

 )مكالمه(
----------------------------------------------  

  )محمدمهدي دغلاوي(  »4«گزينة  -42
  بيو غر بي) عج2  ابينا )1
  نور ي) نور عل4 يواه دي) ام3

 )مكالمه(
----------------------------------------------  

  )محمدمهدي دغلاوي(  »3«گزينة  -43
  نكتة مهم درسي:

فـردي را وادار بـه انجـام    «به معناي  ”twist somebody’s arm“اصطلاح 
  باشد. مي» كاري كردن

 )مكالمه(
----------------------------------------------  

  )محمدمهدي دغلاوي(  »3«گزينة  -44
 پولدارشخص ) 2 گنده و سرشناس آدم كله )1
  شخص سحرخيز) 4 ردا ) شخص شب زنده3

 )مكالمه(
----------------------------------------------  

  )محمدمهدي دغلاوي(  »1«گزينة  -45
  نكتة مهم درسي:

موضـع خـود    اي ـحـرف   يرو«به معنـاي   ”stand one’s ground“اصطلاح 
  باشد. مي» دنيپا پس نكش ستادن،يا

 )مكالمه(
----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  -46
  نكتة مهم درسي:

داريم تا جمله به لحاظ گرامري كامل شود كه تنها » كه«در جاي خالي نياز به 
بوده كـه   ”which open“صورت  وجود دارد. در اصل جمله به» 3«در گزينة 

  كوتاه شده است. ”opening“صورت  به
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -47
   خاطرِ ) به2   ) به جاي1ِ
  بر ) علاوه4   رغمِ ) علي3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -48
  نكتة مهم درسي:

كـارگيري  نادرست است. به » 2«در گزينة  ”to“كارگيري اسم مصدر بعد از  به
كنـد (رد   مـي جمله را ناقص  ،در جاي خالي  مييك جملة كامل و يك گروه اس

  »).4و  3«ي ها گزينه
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -49
  نكتة مهم درسي:

ينـة  دارد كـه تنهـا در گز   ”on“نياز به يك حرف اضافه مانند  ”agree“فعل 
  موجود است.» 4«

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -50
  ) نفوذ كردن2  ) تزريق كردن1
  ) همراه بودن4  ) مداخله كردن3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -51
  ) درآمد 2  ي) مادة مغذ1
  ) نسبت4  ) دامنه3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  -52
  نكتة مهم درسي:

كمك كـردن  «به معناي  ”contribute to something“به تركيب واژگاني 
  دقت كنيد.» به چيزي

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -53
  نكتة مهم درسي:

به كار رود (رد  ”a“تواند به همراه  ميشمارش است و ن غيرقابل ”labor“اسم 
مشخصاً نيـاز بـه يـك مفعـول دارد (رد گزينـة       ”require“فعل »). 1«گزينة 

جملـه در  »). 4«نياز به يك مفعول دارد (رد گزينـة   ”increase“فعل »). 3«
بوده اسـت كـه سـاختار     ”the labor which is required“صورت  اصل به

“which is” .قابليت حذف شدن دارد  
 )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -54
  ) انگيزه دادن2  ) متمايل شدن1
  ) جبران شدن4  ) منفجر شدن3

 )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -55
  ) تقاضا 2  ) درآمد1
  ) موقعيت شغلي خالي4  ) جاي خالي3

  نكتة مهم درسي:
» پاسخ دادن به يك تقاضـا «به معناي  ”fill a demand“به تركيب واژگاني 

  دقت كنيد. 
 )كلوزتست(

 ----------------------------------------------  
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  )روش عقيل محمدي(  »2«گزينة  -56
  »چيست؟ متن اصلي موضوع«ترجمة جمله: 

  »خطر بي كش قارچ يك ةتوسع«
 )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -57
  »شود؟ مي استنباط چه چيزي سيلين پني متن در مورد از«ترجمة جمله: 

  .»بود شده ايجاد يننيستات از قبل«
 )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »3«گزينة  -58
  »است؟ كرده ياد كلمبيا دانشگاه از »1«پاراگراف  در نويسنده چرا«ترجمة جمله: 

  »كرد. تحقيق آنجا در هازن«
 )درك مطلب(

 ----------------------------------------------  

  )روش عقيل محمدي(  »1«گزينة  -59
  »كردند؟ تحليل و تجزيه را اي ماده چه زنها و براون«ترجمة جمله: 

  »خاك«
 )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -60
  »بود؟ چه كسي ”W. B. Nurse“ طبق متن،« ترجمة جمله:

  »يك كشاورز«
 )درك مطلب(

----------------------------------------------  

  )آرمين رحماني(  »3«گزينة  -61
  »كند؟ ميمتن عمدتاً در مورد چه موضوعي بحث «ترجمة جمله: 

  »اقداماتي جهت بهبود بخشيدن به زندگي شهري در اوايل قرن بيستم«
 )درك مطلب(

----------------------------------------------  

  )آرمين رحماني(  »2«گزينة  -62
دهد كه افرادي كه در منـاطق روسـتايي    ميپاراگراف اول نشان «ترجمة جمله: 

  »كردند. ميكردند نسبت به سبك زندگي خود خيلي احساس غرور  ميزندگي 
 )درك مطلب(

----------------------------------------------  

  )آرمين رحماني(  »  2«گزينة  -63
رن بيستم، بسياري از ساكنين روستاها به خـاطر بـه   در اوايل ق«ترجمة جمله: 

  »دست آوردن امنيت مالي به شهر مهاجرت كردند.
 )درك مطلب(

----------------------------------------------  

  )آرمين رحماني(  »1«گزينة  -64
تـرين معنـي را    نزديك »2«در پاراگراف  ”exorbitant“كلمة «ترجمة جمله: 

  »قيمت، پرهزينه) دارد. (گران ”expensive“به كلمة 
 )درك مطلب(

----------------------------------------------  

  )آرمين رحماني(  »4«گزينة  -65
همة موارد زير نتـايج مسـتقيم اصـلاحات مربـوط بـه خـدمات       «ترجمة جمله: 

ي خـدمات خصوصـي ملـزم بودنـد تـا بـه       ها كه شركت اين جز هببودند   ميعمو
  » رمزد بپردازند.ي محلي كاها دولت

 )درك مطلب(
----------------------------------------------  

   )محمدحسين مرتضوي(  »2«گزينة  -66
ي) كـه  خـوار زيچ همـه  ييغذا ميرژ( ”omnivorous diet“عبارت «ترجمة جمله: 

 مي ـرژ( ”varied diet“در پاراگراف اول زير آن خط كشيده شده، از نظر معنايي به 
  »ترين است. نزديك )متنوع ييغذا

 )درك مطلب(
----------------------------------------------  

  )محمدحسين مرتضوي(  »4«گزينة  -67
در پاراگراف دوم بـه مفهـوم    سندهيدر خصوص ساختار متن، نو«ترجمة جمله: 

 يرا بــرا يحلــ تــا راه كنــد ياشــاره مــ »ي)خــوار اهيــگ مــهين( ســمينيتريفلكس«
 ياهي ـگ يها ميدر رژ يشده در مورد جذب مواد مغذ مطرح ياحتمال يها چالش

  »ارائه دهد.
 )درك مطلب(

----------------------------------------------  

  )محمدحسين مرتضوي(  »1«گزينة  -68
  »؟استدرست  رياز جملات ز كي متن، كدام بر اساس«ترجمة جمله: 

رتر جذب بـدن  دشوا يوانيآهن نسبت به منابع ح ياهيمتن، منابع گبر اساس «
  ».شوند يم

 )درك مطلب(
----------------------------------------------  

  )محمدحسين مرتضوي(  »4«گزينة  -69
 ريالات زؤاز س كي به كدام» بله«پاسخ  يبرا يمتن اطلاعات كاف«ترجمة جمله: 

  »كند؟ يرا فراهم م
شـود را   و آهن يافت مـي  B12ها منابع گياهي  هايي كه در آن آيا متن مثال«

  »دهد؟ در اختيار خواننده قرار مي
 )درك مطلب(

----------------------------------------------  

  )محمدحسين مرتضوي(  »3«گزينة   -70
از مـتن   يري ـگ جـه ينت نيبهتـر  تواند يم ريزجملات از  كي كدام«ترجمة جمله: 

  »باشد؟
را  »نيتريفلكس ـ« ميرژ ي،اهيگ يمواد مغذ جذب يها به چالش اذعانبا  متن«
  ».دهد اش پيشنهاد مي يطيمح ريو تأث نهيبه يسلامتخاطر  به

 )درك مطلب(
----------------------------------------------  
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